CITY OF SAN ANTONIO INTERDEPARTMENTAL MEMORANDUM ONSENT AGENDA PUBLIC WORKS DEPARTMENT

TO:

Mayor and City Council

FROM:

Thomas G. Wendorf, P.E., Director of Public Works

THROUGH: Terry M. Brechtel, City Manager

COPIES: Melissa Byrne Vossmer; Andrew Martin; Louis A. Lendman; Milo D. Nitschke; File

SUBJECT: Fulton Avenue from Blanco to N. Flores

DATE:

May 29, 2003

SUMMARY AND RECOMMENDATIONS

This ordinance approves a Community Development Block Grant and 1994 General Obligation Drainage Improvement Bond funded Field Alteration No. 12 in the amount of \$43,319.79 and San Antonio Water System (SAWS) funded Field Alteration No. 5 in the amount of \$28,578.36 for an overall total amount of \$71,898.15 payable to E-Z Bel Construction, Ltd., a MBE firm, for construction expenses in connection with the Fulton Avenue from Blanco to N. Flores, project located in Council District 1.

Staff recommends approval of this ordinance.

BACKGROUND INFORMATION

Field Alteration No. 12 provides for down time of equipment due to utility conflicts. During placement of revised storm sewer, the contractor encountered a conflict with City Public Service (CPS) gas lines. Work was halted until CPS completed the gas line adjustments. These delays were the result of an omission of an 8" sanitary sewer main on the plans by the consulting engineer. The City intends to pursue reimbursement for errors and omissions.

SAWS Field Alteration No. 5 provides for the delay costs associated with sanitary main sewer conflict.

The Fulton Street from Blanco to N. Flores project provides for the reconstruction of Fulton Street with a variable street width from 25 to 28 feet with four-foot sidewalks, curbs, driveway approaches, wheelchair ramps, and retaining walls. The project will include utility conversions with design enhancements at the railroad trestle. Fulton Avenue from the railroad trestle to N. Flores was bid as an additive alternate. This project is currently under construction and should be completed by August 2003.

This construction contract was approved by City Council, Ordinance No. 95079, dated December 20, 2001, and initially authorized \$1,812,313.63 for construction services related to this project. Previously approved Field Alterations totaling \$90,906.41 increased the total contract award to \$1,903,220.04. Field Alteration No. 12 in the amount of 43,319.79 and SAWS Field Alteration No. 5

in the amount of \$28,578.36 will increase the total amount authorized for this construction contract to \$1,975,118.19.

POLICY ANALYSIS

Approval of this ordinance will be a continuation of City Council policy to complete previously approved CDBG and 1994 General Obligation Drainage Improvement Bond funded Capital Improvement Projects.

FISCAL IMPACT

This is a one-time capital improvement expenditure within budget and included in the Capital Improvement Program Budget. Funds in the amount of \$43,319.79 for Field Alteration No. 12 and \$28,578.36 for SAWS Field Alteration No. 5 in the total amount of \$71,898.15 are available from the project construction contingency, previously funded with CDBG funds, 1994 General Obligation Drainage Improvement Bond funds, and SAWS funds. Funds in the amount of \$71,898.15 are authorized payable to E-Z Bel Construction, LTD. This item represents a portion of a total estimated City project cost of \$1,952,431.00.

COORDINATION

This request for Ordinance has been coordinated with the Office of Management and Budget, the Finance Department, and the Department of Housing and Community Development.

SUPPLEMENTARY COMMENTS

This contract was developed utilizing the formal competitive bid process; therefore, a Discretionary Contracts Disclosure Form is not required.

ATTACHMENTS

1. Field Alteration No. 12

2. SAWS Field Alteration No. 5

5/20/03

Thomas G. Wendorf, P.E.

Director of Public Works

Melissa Byrne Vossmer

Assistant City Manager

Approved:

Terry M. Brechtel

City Manager

FORM PW - 15 REV OCT 2002 ONE (1) COPY

CITY OF SAN ANTONIO DEPARTMENT OF PUBLIC WORKS FIELD ALTERATION REQUEST

Date _	March 20, 2003				Field Alteration No	o. <u>PW-012</u>
Project Na	me (as shown on the Work Project Author	orization): Fulton Avenue - B	lanco to N. Flo	res	2003 MAR 26	PM 2: 13
The revision	on or amendment described below to the s in costs. (Describe work to be added c	work originally or pre or deleted. Attach rev	eviously specific vised plan shee	ed is hereby requ t affected or dra	uested, including	
Construct	ion delays due to CPS gas line					
Justificatio	n for proposed alteration (description in o	detail as to why this w	vork is to be add	ded or deleted -	use attachments if ne	ecessary):
completed	cement of revised storm sewer, the c I the gas line adjustments. These dela gengineer.	ontractor encounter ys were the result o	red a conflict v of an ommissio	vith CPS gas li on of an 8" sani	ne. Work was halted tary sewer main on	until CPS the plans by the
oonoami	, engineer.				[x]Increase	
Resulting of	change in contract cost by this Field Alter	ation:	\$	\$43,319.79	[] Decrease	(attach summary)
Resulting i	[x] Increase n an: [] Decrease 26	[x] Working Days [] Calendar Days	(To be negoti	ated by the Con	tractor and the City.)	
Requested	i by:					
Cit	y of San Antonio - Public Works		Dve:	usez	nx 1	24/62
City, Consu	ulting Engineer/Architect, Other		Бу	100	, og	Date:
(Please Sp	ecity)			ael R. Rodrigue el Constructio		
				tractor (type in fu		
PECONM	MENDED:					
A	3-20-	0 5		,		
	and Forwarded Date:		/			Date:
Consultant Firm:	(Project Engr/Arch Only) Alamo Consulting Engineers		Other if requir	eo, i.e. City Dep	SAWS, etc.	
) (L 3.7d)	- カミ	1.HML	34/	J-6	21-03
Jim Clemer	its, P.E. Date:		Walter E. Chile	ds		Date:
Project Mar	nager		Construction I	nspections Man	ager	
10	15/		Razi S. Hosse Assistant City	•		Date:
Nell	124 April 3/2.	5/03	10 hester	Men	gardarek da. Kalantaria	C/C/03
William E. K		_		erkes, Ph.D., P.I		Date:
Capital Pro	grams Manager		City Engineer			
APPROV	ED:					
Terry M. Bre	echtel Date:	-	Thomas G. We	endorf P.F.		Date:
City Manage			Director of Pub			Date.
	JSE ONLY: Services Fees for this Field Alterations are: [Laligible I Linguist				
Tolessional	Services rees for this rield Alterations are: [Jeligible [] ineligible				
Original Cont Previous App		-		Contg. Fund	.\$	
This Field Alt		_		us Approved FA i ield Alteration	\$	
Total	\$1,946,539.83	- -	Total F	ield Alterations	\$	
			Baland	⊳ ⊏	\$	

Ord. No. 95019 12/20/01



FIELD ALTERATION

#_PW-014 12

Fulton - Michigan to N. Flores at the North Flores Intersection.

Requested by : COSA Traffic

Justification: An encounter of a unknown sewer main was discovered durning placement of storm drainage system. This conflict occurred on 9/11/02 and the neccassary information was forwarded to the COSA.

***************************************			-		
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION
SP	Down time of equipment due to utility conflict resolution.	L5	1,00	\$ 19,857.91	\$ 19.857.91
	Total	* • • • • • • • • •			\$ 19,857.91
			76		79
	Additional Working days requested	12		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	\$ 43,319.79]
	Additional Working days granted				

Submitted by E-Z Bel Construction as requested

E-Z Bel Construction LTD.

Project: Fulton - Michigan to N. Flores

Requested by: COSA

Location: N. Flores, Gramercy & Fulton intersection.

SCOPE: Fulton Delay Claim

Storm sewer utility conflicts with CPS Gas Main

				5					
Description of Item	Units	Quantity	***************************************	Unit Price		Extended Amount			
Labor (See Detail Below)	LS	1.00	\$	600.00	\$	-600:00	1300	•	
Compensation @ 25% of Labor	Ł5	1.00	\$	150.00	\$	150.00	325 -		
Labor Burden @ 55% of Labor	1.5	1.00	\$	330.00	\$	330.0 0	715-	1	
		Subtotal - La	bar		\$	1,080.00		- \$234	0.00
Equipment (Sce Detail Below)	LS	1.00	\$	12,853.44	\$	12,653.44	27,14	5.12	
Mobilization	L.S	1.00	\$	-	\$	-	. ′		
Compensation @ 15%	L5	1.60	\$	1,928 02	\$	1,028,02	4072	.37	
		Subtotal - Eq	uipi	nent	\$	14,781.46	31 2	221.49	
Material @ Cost	1.5	1.00	\$	-	\$	_	2.7.	,_,,	
Compensation @ 25%	LS	1,00	\$	-	\$	-			
		Subtotal - Ma	iter	ial	\$	-	6493	79	
Jobsite Overhead (e.g. Port-o-lots, barricules, etc.))	1.00	\$	2,500.00	\$	2 ,500.00	4417). I I	
Office Costs at 5%	2/	5.00%	\$	18,361,16	\$	70.810	2002.	76	1.
40,05	25.68)		Subtotal	\$	19,279,63		12,058	2.04
Bond Costs at 3%		3.00%	\$	19,279.53	\$	678-30	_		
				Total	\$	19,857.91	_ 12	261.75)
Days Delayed by conflict					L		1.00		٠
		726					(#)_		•
(Dee 5th to Dec 20th) 11.7~ 12.20	1/2	working do	ay:	i		1	1.4:	5517.1	4
Additional working days requested (1/2)							<u> </u>	~~~	\sim

24

-[Labor Detail	Men	Н	r Rote	Hours	Extended	D	Days Charged	Extention
ı	Project Manager	1	\$	36.00	-	\$ -			
1	Project Superintendent	1	\$	25.00	2.00	\$ 50.00	\$	26 12.00	660,00
						\$ -			
-						\$ 50.00	魕		\$ 600.0 0

1300-

1300

Equipment Detail	Unit	Hour Rate	Qty	Extended	Days Charged	Extention
2002 Crew Cab 3/4 Ton Work Truck	HR	\$ 8.57	0	\$ -	26+=	_
CAT Sheepfoot Roller	HB	\$ 26.44	8	\$ 211.52	26 12	2 ,536:2 4
Wheel Loader 98 - 444 H Decre	HR	\$ 28.57	8	\$ 228.56	24 +2	2,7-12,72
OI Kobelco Excavator 2355R LC	LS	\$ 70.12	8	\$ 560.96	24 12	6,734.52
Stihl Quickie Saw - T5460	FIR	\$ 2.51	8	\$ 20.08	26 12	2 40.96
Topcon Laser Model GM 10	OW	\$ 600.00	1	\$ 600.00	1	600.00
				\$ -		
Management of the Section of the Control of the Con				\$ 1,621,12	STATE OF THE PARTY OF	\$ 42,853,44

5499. 52 5942. 56 14584. 96 522.08

27,149.12

Per Rental Rate Bluz Book
2002 Crew Cab 3/4 Ton Work Truck
CAT Sheepfoot Roller
01 Kobelco Excavator 235SR LC
Stihl Quickie Saw - T5460
Wheel Loader 98 - 444 H Decre

						•				
Mo\$'s	Rate adj	Regional	Total	Hours	He	y Cost	0	p Cost	Tere	d Hr Rate
\$ 730.00	1,000	0.914	\$ 667.22	160.00	\$	4.17	\$	4.40	\$	8.57
\$ 3,530.00	0.993	0.894	\$ 3,133.73	160.00	\$	19.59	\$	6.85	\$	26.44
\$ 7,615.00	1.000	0.906	\$ 6,899.19	160.00	\$	43.12	\$	27.00	\$	70.12
\$ 260.00	1.000	0.928	\$ 241.28	160.00	\$	1.51	\$	1.00	:‡	2.51
\$ 2,815.00	0.983	0.889	\$ 2,459.99	160 00	\$	15.37	\$	13.20	4	28.57

FORM PW - 15 REV OCT 2002 ONE (1) COPY

CITY OF SAN ANTONIO **DEPARTMENT OF PUBLIC WORKS** FIELD ALTERATION REQUEST

RECEIVED

MAR 17 400

2003 FORSTARD TION ADMINISTRATION Field Alteration No. SAWS# 5

Date

March 17, 2003

Fulton Avenue- Blanco to North Flores, SAWS Job I	•		
The revision or amendment described below to the wor all changes in costs. (Describe work to be added or de	rk originally or pre eleted. Attach rev	eviously specified is hereby reque vised plan sheet affected or drawi	sted, including ngs as required):
Delay cost associated with sanitary main sewer cor	nflict		
Justification for proposed alteration (description in deta	ail as to why this w	vork is to be added or deleted - us	se attachments if necessary):
An encounter of a unknown sewer main was discoved 9/11/02 and design plans for placement were development.			
Resulting change in contract cost by this Field Alteratio	on:	\$28,578.36	★ Increase [] Decrease (attach summary)
	k] Working Day		
Resulting in an: [] Decrease] Calendar Day	(To be negotiated by the Contra	ctor and the City.)
Requested by:			
SAWS		By: Mes	03/17/03
City, Consulting Engineer/Architect, Other		7	Date:
(Please Specify)		Title:	If / hunager
		Contractor (type in full	
Recommended			
Recommended		Valhin 3	-18-03
		Others: (If required; , City D	Dept., S.AW.S., tc.) Date:
		Rud R. Kyzma	n 03/20/02
Consultant (Project Engr/Arch Only) Date: Firm:		Rudy Guzman Construction his Setor Supervis	Date:
1. C + 3.24.0	3	MAL	3/20/03
Jim Clements P.E. Date: Project Manager	6	Walter E. Childs Construction Inspections Manag	per Date:
MM & same 365/	03	desly/	5/5/07
William E. Krause Date: Capital Programs Manager		Douglas W. Yerles, Ph.D., P.E. City Engineer	Date:
APPROVED:	***		
Terry M. Brechtel Date: City Manager		Thomas G. Wendorf, P.E. Director of Public Works	Date:
FOR CITY USE ONLY: Professional Services Fees for this Field Alterations are 1.1 digital 1.1	Lineliaible		

Original Contract Amt. Previous Approved FAs This Field Alteration

Total

Const. Contg. Fund Previous Approved FA This Field Alteration Total Field Alterations

Balance

ad. No. 95079

E÷ Z Bel Construction Ltd. 811 El Monte San Antonio , Tx 78201 736-6595 Fax 735-1842 e-mail " mirrodríguez@ezhel.com"

FIELD ALTERATION

#__PW-012

Fulton - Michigan to N. Flores at the North Flores Intersection.

Requested by : COSA Traffic

Justification : An encounter of a unknown sewer main was discovered during placement of storm drainage system. This conflict occurred on 9/11/02 and the neccassary information was forwarded to the COSA.

ITEM	<u>DESCRIPTION</u>	UNIT	QUANTITY	UNIT PRICE	EXTENSION
SP	Down time of equipment due to utility conflict resolution.	LS	1,00	\$ 25,978.36	23,978.36
	Tatal				-23,978.36
		25			#28,57E
	Additional Working days requested	21			
	Additional Working days granted				
	and the late C T D I C was a slaw as manufacted				

E-Z Bel Construction LTD.

Project: Fulton - Michigan to N. Flores

Requested by: COSA

Location: N. Flores, Gramercy & Fulton intersection

SCOPE: Fulton Delay Claim

Storm sewer utility conflicts with sanitary sewer main.

Description of Item	Units	Quantity		Unit Price		Extended Amount	
Labor (See Detail Below)	ĹS	1,00	\$	1,050.00	\$	1,050.00	
Compensation @ 25% of Labor	L5	100	\$	262.50	\$	262.50	
Labor Aurden @ 55% of Labor	ĻS	00.1	\$	577.50	\$	577.50	
		Subtatal - Labo	,		5	1,890.00	
Emilyment (See Ostail Bolow)	L5	1.00	\$	15,462.08	\$	15,462.05	
Mabilization	LS	1.00	\$	-	\$	•	
Compensation @ 15%	LS	1.00	. \$	2,319.31	5	2,319.31	
		Subtatel - Equi	pme	nT	\$	17,781.39	
Maracral & Cost	LS	1.00	\$	-	\$	-	
Compensarion @ 25%	1.5	1.00	\$	-	\$	-	
		Subtotal - Mate	cria	4	\$		
lobaite Overhead le.g. Port-o-lets barricades, etc.)	1.00	5	z,500.00	\$	2,500.00	
Office Casts at 5%		5.00%	\$	22,171.39	\$	1,108.57	
7()(GE 2021) O. 111				Subtetal	\$	23,279.96	
land Costs at 3%		3,00%	s	23,279,96	3	698.40	
DANG DESTS DI DA		. •	-	Tatal	1	29,978.36	
iye Delayed by conflict (Sept 11th to Oct 21)		working days					
Additional working days requested (21)	. 7.	50100	~1	(2	4,57	S. 5

Mobilization			•	-	
Compensation @ 15%	LS	1.00	\$ 2,319.31	\$ 2,319.31	<u>보</u>
		Subtatal - Equip	nent	\$ 17,781.39	
Material & Cost	LS	1.00	\$ -	\$	
Compensation @ 25%	1.5	1.00	\$ -	<u> </u>	The property of the property o
		Subtotal - Meter	lat	\$ -	
labsite Overhead le.g. Port-o-lets barriced	lot, etc.)	1.00	\$ 2,500.00	\$ 2,500.00	o some some some some some some some som
Office Costs at 5%		5.00%	\$ 22,171.39	\$ 1,108.57	
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			Subtetal	\$ 23,279.96	
land Costs at 3%		3.00%	\$ 23,279.96	\$ 698.40	o la
and costs u. o.			Tatal	29,978.36	
e Delayed by conflict (Sept 11th to Oc	721) 21	working days			Jose For Hoselx.
				24,5	To be and the bold of Marine statement
idditional working days requested (227	25 37	" w11) ~) (- 12	100 205 BB
additional working days requested (234)	25 37		1	- ')	13-05
idditional working days requested (217	25 37	, , , , , , , , , , , , , , , , , , , ,			10 ho 3 13-05
additional working days requested (227) Labor Detail	25 27	Hr Role	Hours	Extended	Doys Charged Extention 100 100 100 100 100 100 100 100 100 1
Labor Detail		, , , , , , , , , , , , , , , , , , , ,	Hours	Extended \$	Doys Charged Extention 51 x 13 - 65
Labor Delail		Hr Role		Extended \$	Doys Charged Extention 51 x 13 - 65
Labor Delail		Hr Ro1e \$ 36.00	Hours	Extended \$	Doys Charged Extention 51 x 13 - 65
Labor Delail Project Superintandent		Hr Ro1e \$ 36.00	Hours	Extended 5 - 50.00	Doys Charged Extantion 5/1/2/3 5

Equipment Detail	Unit	Juit Hour Rate		Qty		Extended	Days Charged	Extention -
ZOOZ Crew Cab 3/4 Tan Work Truck	HR	5	8.57	0	3	-	21	!
	HR	1	26.44	В	5	211.52	21	4,441.02
CAT Sheeploot Roller Wheel Looder 98 - 444 H Deero	HR	1	28.57	1	\$	228.56	10	2,285.50
	ا ''' -	+-	70.12	8	5	560.96	14	7,853.4
OL Kobsica Excavetor 2355R LC	HR	+-	2.51	B	5	20,08	14	281 1
Stihl Quickle Saw - T5460	MO	1:	600.00	1	5	600.00	1	600.00
Topcon Laser Model EM 10		+*-	 }-		1	_		1
		+			5	1,621,12		\$ 15,462.0

For Rental Rate Blue Book	
2002 Crew Cab 3/4 Ton Wark Truck	
CAT Sheepfoot Roller	
Ol Kobelco Excovator 2355R LC	
Strit Quickie Son - T5460	
Wheel Loader 98 - 444 H Deers	

1	£'.	Rate adj	Regional	Total	Hours	Hely Cost	Op Cost	Total Hr Rate
1	730.00	1.000	0.914	\$ 667.22	160,00	\$ 4.17	\$ 4.40	\$ 8.57
			0.894		160100	\$ 19.59	\$ 6.85	\$ 26.44
\$ 3,	530.00	0.993			160,00	\$ 43.12	\$ 27.00	\$ 70.12
\$ 7,	615.00	1.000	0.906				\$ L00	\$ 2.51
1	260.00	1,000	0.928	\$ 241.28	160100	5 1.51		\$ 28.57
1	815.00	0.983	0.899	\$ 2,459.99	160.00	\$ 15.37	\$ 13.20	25.57